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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Give detail account of Bentham and Hooker’s system

of classification of plants.

csaFke vkSj gqdj dh ikS/kksa ds oxhZdj.k iz.kkyh dk foLr`r fooj.k

nhft,A

2. India is a mega biodiversity country. Discuss with

suitable examples.

Hkkjr ,d fo'kky tSo fofo/krk okyk ns'k gSA mi;qDr mnkgj.kksa

ds lkFk ppkZ dhft,A
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3. Discuss the role of NBPGR in conserving the

germplasm.

teZIykTe ds laj{k.k esa ,uchihthvkj dh Hkwfedk ij ppkZ

dhft,A

4. Write descriptive note on economic importance of family

Poaceae.

iks,lh ifjokj ds vk£Fkd egRo ij o.kZukRed uksV fyf[k,A

5. Write a detailed note on BSI. Discuss its role and

significances.

ch ,l vkbZ ij ,d foLr`r fVIi.kh fyf[k,A blds Hkwfedk vkSj

egRo ij ppkZ dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. Write short notes on the following :

(a) Rose

(b) Orchids

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) xqykc

(c) vkW£dM

2. Taxomnomic characters of family Ranunculaceae.

jSuudqyslh ifjokj ds oxhZdj.k lEcU/k y{k.kA

3. Economic importance of family Liliaceae.

fyfy,lh ifjokj dk vk£Fkd egRoA

4. Write floral formulae and floral diagram of the following

plants :

(a) Ranunculus

(b) Citrus

fuEufyf[kr ikS/kksa ds iq"i lw= vkSj iq"i vkjs[k fy[kks %

(v) jSuudqyl

(c) lkbVªl

5. Give medicinal and condiment uses of family

Ranunculaceae.

jSuudqyslh ifjokj ds vkS"k/kh; vkSj elkyk mi;ksx crkb,A
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6. Role of BSI in plant wealth of India.

Hkkjr dh ouLifr laink esa ch,lvkbZ dh HkwfedkA

7. Write short notes on the following :

(a) ICN

(b) Typification

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(v) ICN

(c) VkbfifQds'ku

8. Why biodiversity does not have political boundaries ?

tSo fofo/krk dh dksbZ jktuhfrd lhek,¡ D;ksa ugha gS \

**************


